3M0O1 Pupil Tasks Plan

Master 100s

Fluency 1 Fluency 3

Complete the stem sentence. Complete the stem sentences.
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tens are equivalent to 1 hundred.

Fluency 2

Use the table to complete the stem sentence.
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@ tens are equivalent to 3 hundreds.
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available with a subscription.
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100 is 10 times the size of
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hundreds are equivalent to 20 tens.
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Master 100s

Complete the stem sentence.
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s are equivalent to 5 hundreds.

Fluency 4

This is a FREE resource from @lon

Use the table to complete the stem sentences.

100s

10s

1s
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ones are equivalent to 1 hundred.

100 is 100 times the size of

Fluency 5

Use your knowledge to complete the stem sentences.

tens are equivalent to 8 hundreds.

500 ones are equivalent to hundreds.

9 hundreds are equivalent to tens.

70 tens are equivalent to hundreds.

tens are equivalent to 6 hundreds.

ones are equivalent to 4 hundreds.
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Reasoning, answers and teaching slides are

available with a subscription.

.co.uk




